RERE-AIVITRERRISOVTHEER A

@5/10EF 5 METEES D L
135
100Bg/ kg% X 5L D0
BRERKE

No BT R HE HElniELE tr 134 t 9 L-137 EEE

Ba. kg Ba. kg Ba ke
1 AT R5.5.11 =S| BRH+E9(<6.6) BREE9(<7.0) BRHEEY
2 AR R5.5.11 =S| BRHE9(<8.3) BRHE9(<8.0) - Janpcic N
3 AR R5.5.11 =S| BRHE9(<8.6) BRHEE9(<9.6) - Janpcc N
4 AR R5.5.11 =S| BREE9(<94) BREE9(<7.3) L Janpcc N
5 AR R5.5.11 =S| BREE9(<L7.5) BREE9(<6.9) - Janpcic N
6 AR R5.5.11 =S| BREE9(<7.6) BRHEE9(<5.8) - Janpcc N
7 AfH R5.5.11 =SS BREE9(<9.1) BREEI(1T) Ly Janhcc N
8 AfH R5.5.11 =SS BRHEEI(<11) BREE3(<74) L Janpcac N
9 A R5.5.11 =SS BREE9(<9.5) BREE3(<L7.5) Ly Janpcac
10 AfH R5.5.11 =SS BRHE(<9.2) BRHET(<L7.3) BRHET
11 AfH R5.5.11 =SS BRHET(<9.1) BRHET(<L7.9) BRHET
12 B+t R5.5.11 4R BRHEEI(<7.8) BRHEE3(<7.6) cJaehcac
13 B+t R5.5.11 4R BRHEEI(<L7.8) BRHE9(<8.6) cJaehcac

BREEERICBT2—BEROEEE 9L :100Ba/kg(tP ™ L-134, £ H L-13TOEE(E)




RERE-AIVITRERRISOVTHEER A

@5/11EETH METEES D L
75
100Bg/kgZ 8251 D0
BRERKE

No BT R HE HElniELE tr 134 t 9 L-137 EEE
Ba. kg Ba. kg Ba ke

1 FEH R5.5.12 =S| BREE9(<8.7) BREE9(<7.3) BRHEEY

2 At R5.5.12 =S| BREE9(<7.6) BREE9(<6.7) - Janpcic N

3 v R5.5.12 =S| BRHE9(<8.8) BRHEE9(<6.5) - Janpcc N

4 ERF R5.5.12 =S| BRHE9(<8.6) BREE9(<8.7) L Janpcc N

5 EFF R5.5.12 =S| BREE9(<8.9) BREE9(<7.6) - Janpcic N

6 =Pa7] R5.5.12 =S| BRHEEI(<11) BRHE9(<6.5) - Janpcc N

7 EZAT R5.5.12 =SS BRHEE9(<L7.5) BREE9(<8.9) BRHET

BaBEEIB T2 —REBEROEEE 9L 100Bg/kg(t>HL-134, 22 H L-13TDOEE(E)




RERE-AIVITRERRISOVTHEER A

B5/12LEH WattEtEs S L
65
100Bg/ kg% X 5L D0
BREEE
No BT EA HElniELE tr 134 t 9 L-137 EEE
Ba. kg Ba. kg Ba ke
1 HETF R5.5.12 LSS BREE9(<9.3) BREE9(<7.2) BRHEEY
2 At R5.5.12 =S| BREE9(<8.7) BRHE9(<6.0) - Janpcic N
3 M IERT R5.5.12 =S| BREE9(<9.0) BREEI(<1T) - Janpcc N
4 EZATh R5.5.12 =S| BRHE9(<9.6) BREE9(<7.9) L Janpcc N
5 RFEF R5.5.12 =S| BRHEE9(<9.3) BREE9(<8.2) - Janpcic N
6 XEHR R5.5.12 =S| BRHE9(<6.1) BRHEE9(<6.3) - Janpcc N

BaBEE B2 —REBROREE 9L 100Bg/kg(t>HL-134, 22 H L-13TDOEE(E)




